_|_|_.j|".i_|_: __________:_______-__:___:_:____:______.___:_____:_f.__:_.
20cm _ 30cm bOME 50cm 60cm 70cm Ocm Ocm
3
—gm  An Bm fm fm fm fm  fm o fon m
A Cmm :._m _.-\.:w.wm.ﬁ” ik 1o mmzﬁuu \H% :
im = 50cm (@) zm = [ lcm (b) im =TScm (c) 1sm = Bcm
__ 4 _
@ &m=Jcm () som =4scm  (f) fom =Telem (g) om =3cm
/"5 What fraction oi o metre is: .
(a) 10cm (b) 20cm (c) 40cm (d) 70cm  (e) 30cm (f) 90cm?
| 2 _Ti J 3 n_
ot p (2 N — s —
jom = = 1' METRE | B

’J.::_:__:______:_:Z.W_,_“__j_______.:__,____:____:___:_“__________:__:_________________

10cm 20cm 30cm 40cm 50cm 60cm 70cm 80cm 90cm
0 0-1m 0-2m 0-3m 0-4m 0-5m - 0-6m 0-7m . 0-8m 0-9m

Tm
3. Use the metre stick to find the answers. | _
0:-Tm = 10cm (@) 0-2m =Zcm  (b) 0-4m =% cm (c) 0-7m =¥cm

) 09m =Pcm  (e) 0-:3m =2cm  (f) 0-5m =50cm (g) 0-8m = Fcm

i

-—

7o
" ) £ L £ : ™
~ 4. 10cm uv.ﬂlo_d =01 (a) 20cm _w,m:,_uu -Zm (b) 40cm = ﬂl:s =G4m

© 60cm = Zm =égm - (d) 70cm = Bm =6m () 90cm = jgm =54m
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; g

EAREEERARRARRR R RRRER)
1 _______-_,Imu__—____ _“_—_-___ TTTIIRN 0] | _
_I:_:___:_:___j___:__ ~ 4 i e X
40cm 50cm cm Ocm
ﬁ 10cm 20cm 30cm C |
0
k to find:
1. Use the metre stic ; q :
mom = 1cm (@) #om = Zcm  (b) wm =3cm (€)M = Bem
A3 .
Anc Sc..: = [/ cm (e) Foom = LCM

() .md.mm:; = A¥CM (9) %%3 = &icm

2. What .q_dn:os of a metre IS:

(@ Tem, (b) 2cm 5, () 3em;i(d) 11emg; ‘e) 21cmiy

7(f) 43cmz(g) 78cm 2
0-QTm 0:11Tm 0:.23m o.b..\.q.: 0-7m O.ﬁmuq:
ﬂ + |* _ ¥ ____.__ TT
____________:___:_______21 I TTTLED - 1;_1__:____. _?:_::_._:_._._._ .._:_‘1_
10cm 20cm 30cm & ; 1|-..,m|@ln m . o 1 Jﬁvﬁ: bn 80cm ﬂona i
0 0-Tm 0-2m 0-3m 0-4m 0-5m 0-6m 0-7m 0-8m 0-9m

3. Use the metre stick to find the answers
00Im=1cm (a) 0-02m =

1m

Lcm (b)) 0:07m = ..._H cm (c) 0-09m = Ticm
(d) 0-11m = J/cm (e) 0-12m = Zcm (f} 0:27m =Z/cm  (g) 0-84m =8jcm
4. 1cm = sm = 0-01m (@) 2cm => m_,.“.m:, =m (b) 4cm > .rwm-.: Q..: {
3 0- 09 O° iiM 3 .u |
(c)9dcm => ssm = m Ev:n:duvlﬁsl m (¢ :wn:,.uvuadq: :..
Zie O+2LM €95 . O'&
(f) 24cm = gpm = m

(g) 85cm = 56m =

m  (h) 94cm > ﬁ:,_ |o_,h._ﬂdz




e —

r_lo_nB = 1m + dnB = rs:,_

e mm———— e N ——

:S:omn.:ﬂv_:,;BanV_ ...E_,_._ Av:o#m__?_..
@ 205cm = EB + 5lcem > m.IB N.mu: Ev wo B

i .,m._.._.‘._ B ...







